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Note : Section ‘A’ is Objective type and is compulsory. It
should be written on the first page of Answer-

book. Section ‘B’ is Short answer type and Section

‘C’ is Long answer type.
@|Ug ‘31’ (Section ‘A’)

aglasheara av

(Multiple Choice Questions)

&l I R I HifSU ;
Choose the correct answer :

(i) Trefefed § 9= s @ :

(1) 34 (F) foa=
() STt () TehIst

1x10=10

(ii)

(iii)
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A pentose sugar :

(a) Erythrose (b) Threose

(c) Xylose (d) Glucose

a-D TSI T B-D TN § ¢

(37) TUm (&) hId-Teel T

(9) TR (%) 3T | =g &l
o-D glucose and B-D glucose are :
(a) epimer (b) keto-aldo pair
(c) anomer (d) none of these
IR R LIS g

(31) shad L-3THHA 37

(&) shelel D-STHA! 37T

(") (1) 3R (=) i

(%) 3ugert | | h1E el

Protein contain :

(a) Only L amino acids

(b) Only D amino acids

(c) Both (a) and (b)

(d) None of the above



(iv)

(v)

(vi)
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SHI3TeRT T T WeR AT H I ST el RNA © :
(37) mRNA (&) tRNA
(¥) rRNA (?) hnRNA
The most abundant type of RNA in the cell
is :
(a) mRNA (b) tRNA

(c) rRNA (d) hnRNA

SHITSTEH Bl & :

(31) BHIM RIS Teh AT

(&) BHL WA 17

(%) 919 faarfaq

(]) ug A=A

Coenzyme is :

(a) Always inorganic compound

(b) Always a protein

(c) Often a vitamin

(d) A metal ion

Tare e Fve & & €

(31) Tfha el I FopareR @ S[ed 4 = @
2d |

(F) 3ifaw Iag wl 3Afes 3Icaed 1 Faf=a
FA G
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(®) (1) wd (&) Ml
(T) T § T I Tl
Allosteric inhibition :
(a) makes active site unfit for substrate
(b) controls excess formation of end product
(c) both (a) and (b)
(d) None of the above

(vii) TG 377 h SATTRIRTOT BT § :

(1) p-AMRTRIO (o) TRSATTRIRI
(9) o-3Afformaeo  (7) 3 9+t
Fatty acids are oxidised by :
(b) Peroxidation

(d) All of these

(a) PB-oxidation

(c) a-oxidation

(viii) T ARSI TehTeT yaioor fmad Bar g ?
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(37) frerefia Qe

(o) AN TRy

(9) &1

(%) 374 & *IE Tl

Non oxygenic photosynthesis occur in :
(a) Cyanobacteria (b) Chloroflexus

(c) Chara (d) None of these
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(ix) <9 57 Heha aidl o, STa UGy It § :

(%)
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(31) Afquedl Aerm
(9) STCUUE HiegH
(9) FHIWER] "iegH
(%) M SolRIcTse HILad

Plasmolysis occur when plant cell is placed

in :

(a) Hypertonic solution

(b) Hypotonic solution

(c) Isotonic solution

(d) Non electrolyte

ST I i 3TaE HH B T
(1) T yEE (§) @ e
(T) ferR gEen () g weoen

Generation time is lowest during :

(a) lag phase
(b) exponential phase
(c) stationary phase

(d) death phase
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Wus ‘a8’ (Section ‘B’)

g ITIT 997 3x5=15
(Short Answer Type Questions)

qe— |t Ui gvd AeEd €1 75 9 100 Ii H I«
e |

Note : All the five questions are compulsory. Word
limit 75-100 words.

1. 9REdl et FoiH ol Tehlsl o I3 Higd THRT |

Describe phenomenon of mutarotation with

example of glucose.
A4l / Or

T Y & TohR GHAET |
Describe type of simple proteins.

2. FARA hi T Ud Hecd YHATSU |

Explain structure and function of cholestrol.
HAYAT / Or

rRNA TR feooft fafem |
Write a note on rRNA.
3. Wi Her THeh fafet Ue km Hed Tt ShifsTu |

Write michaelis menton equation and explain

role of km.
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HAYAT / Or
Yreaifesh YU 3801 Higd T T |
Explain prosthetic group with example.

. TGS STufoRa oh1 Hewl 3aTeXUl Hitd T T |

Explain importance of transamination reaction

with example.

HAYAT / Or

A § STage el Tg=ad W feuqof fafem |

Write a note on anaerobic catabolism of glucose

in yeast.

. gH TorERor shi 3gTeL Gfed HHeET |

Explain with example facilitated diffusion.
AT / Or

Na-K TS ffd YR e faeett & SHl 3R
o TamEfeh Yaurr &1 T el | 2

Explain how Na-K ATPase plays important role
in maintaining electrochemical gradient across

membrane.
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¥us ‘g’ (Section ‘C’)

g T 99T 5x5=25
(Long Answer Type Questions)

qAe— Tt ure yyA A €1 250 9 300 YIS H I

ifeu |

Note : All the five questions are compulsory. Word

limit 250-300 words.

. T T 3 Wiz ed i SeTelvl fed THey |

Explain homo and hetero polysaccharides with

example.
UAl / Or
Y& & TEHTHS &R U Had T Yah13l SIfd |

Explain the structure organisation and

importance of protein.

. 9 fafted & §ed W9 "ed i 3amedvl Higd

HHART |
Explain in detail composition, importance and

examples of conjugated lipids.

HAYAT / Or

a1ed Td fsheh DNA model & U@ fog ! IHEAET |
Explain Watson and Crick model of DNA.
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3. UoEd 9eH 1 ¥ ? ufqeasia qen stufaedfa demm HYaT / Or
T e HIFSTT | eI Tt § vl & Haed 1 fafe= fafeed =
What is Enzyme Inhibition ? Compare REKIERY
Competitive and Noncompetitive Inhibition. Explain different transport mechanism across
S9aT / Or plasma membrane.
TSISH T § ? WSTZH Tdeh! shl HHATET | SO0V CcOOOOO

What is Enzyme ? Explain the Enzyme Kinetics.
4. e fogeyH & fafu= =Ror ug Ty 9uemEy |
Explain the steps and enzymes involved in
B-oxidation pathway.
AL / Or

el Tk o fafy= =01 T UsiieH W feoqofi fafem |
Write a note on various steps and enzymes
involved in Kreb’s cycle.

5. ol faeell i H=Hl, T9EfER Hoed wd Sifas
Ted R feuf fafem |

Write a note on structure, chemical composition
and biological importance of plasma

membrance.
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